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1) Question No.1 is compulsory.
- 2) Solve any Three questions from question No. 2 To 6.
3) Assume suifable dafa if necessary. ‘
Q1) Solve any Five questions. L sy {0}5“04]
A) Define pole & zero of transfer function & draw P-Z plot for ¥ ®) =55 o
By Fisid the Taplace teansforsy of the wisveforiy shiown below,
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C) State & explain Millman’s theorem. “
s D) Find the dual of the given network,

E) Testwiiether g followiig wacton s Hiwity potysomial.
F{5) = §* + 1653 + 8652 + 1765 + 105.
F) Find 1,(0*) & V(0* b thciecuit shown bolow, if switch is opensd ar 1 =0.
100

a2zSubjects.com

' URN OVER
JP-Con. 12211-15. r .

&

AT


http://www.a2zsubjects.com/

; Bleck B cpons -

23

2 ' QP Code : 4796
a2zSubjects.com ' o

@) . - 0L N

A) Use Nodal analysis to find V}, in the circuit shown below, - HOL

- 0.5V,

B) Write a incidence matrix.
Q3} . . \.’I .

A) Find the loop currents in the coupled network. shown below by mesh analysis. [10]
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B) In the given circuii switch is opened at t =0. Find the value of v, 5z &7 att=0%. [10]
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A) The switch changes it’s position from “A” to “B” att= 0.Determine current i(t) fort>0 ~ =
using iaplace transform. : {I‘)j
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: B) Explain Z-parameters & prove the condition for symmetry & rectﬁi\mty [10]
Q5) ' ' o
&) Fina 29 g 2O fordh circuit shown Below, . {10}
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B) Find the fostér-l & foster II forms of the given impedance function. _ [10]
) ___3(S+2)(S+4)
2 =56+
A) Two networks are shewa below; obtain the transmission parameters of the resulting
circuit when both circuits are connected in cascade. [12]
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